```
MATH 2060 TUTO 2
Example Let f:[0, 0) -> IR be diff. on (0, 0).
             If \lim_{x\to\infty} f'(x) = \ell, show that \lim_{x\to\infty} \frac{f(x)}{x} = \ell.
            (The result follows immediately from L'Hopital'rule.
             As a demonstration, we will prove it by MVT ).
Ans! Let E>O.
       Since I'm f'(x) = 1, 7 c > 0 s.t.
                |f'(x) - l| < \varepsilon whenever x > c.
       tor x > c, f is cts on [c,x] and diff. on (c,x).
       By MV7, \Rightarrow f_x \in (e,x) s.t.
             f(x) - f(c) = f'(3x)(x - c)
       \Rightarrow \frac{f(x)}{x} - \ell = f'(x)(1 - \xi) - \ell + f(\xi)
                           = \left(f'(\xi_{x}) - l\right)\left(1 - \frac{c}{x}\right) - l \cdot \frac{c}{x} + \frac{f(t)}{x}
                           < E < 1 small whom x large
      Let M:= max ) c(1/1+1), |f(1) > 0.
      Nou if X > M/E, then
      \left|\frac{f(x)}{x}-l\right| \leq \left|f'(f_x)-l\right| \left|1-\frac{c}{x}\right| + \frac{|l|c|}{x} + \frac{|f(c)|}{x}
                     < 2 \cdot 1 + M(2/n) + M(2/n)
     Therefore (im f(x) = l
```

Example Prove that the eqn $1+x+\frac{x^2}{2}+\frac{x^3}{3}+\cdots+\frac{x^n}{n}=0$ has one real root if n is odd and no real root if n is even. Ans: Let $g(x) := 1 + x + \frac{x^1}{2} + \frac{x^3}{3} + \dots + \frac{x^n}{n}$ Note g is cts and diff. on R with $g'(x) = 1 + x + x^2 + \dots + x^{n-1} = \begin{cases} \frac{x^n-1}{x-1} \\ n \end{cases}$ if x + 1 if X = 1· Jappose n is odd, Then g'(x) > 0 Y x e R. (x"-1 < 0 if x < 1; x"-1 > 0 if x > 1) So g is strictly increasing on \mathbb{R} , and g(x) = 0 has at most I real root. OTOH, since $\lim_{x\to\infty} g(x) = -\infty$ (since nodd) and $\lim_{x\to\infty} g(x) = \infty$, Intermediate Value Thm implies that g(x) = 0 has at least I real root. Henre g(x) = 0 has exactly one real root · Juppose n is even. Then g(-1) = 0. Moseover, if X < -1, then $X^n - 1 > 0$, $X - 1 < 0 \Rightarrow g'(x) < 0$ if -1<x<0, then x"-1<0, X-1<0 =) g'(x)>0 if x 20, then g'(x) 21 >0. Jo g has global min. at x = -1Now YXER $g(x) = g(-1) = 1 + (-1) + \frac{(-1)^2}{2} + \frac{(-1)^3}{3} + \dots + \frac{(-1)^4}{9}$ $= (1-1) + (\frac{1}{2} - \frac{1}{3}) + \dots + (\frac{1}{n-2} - \frac{1}{n-1}) + \frac{1}{n} (h even)$ Henre g(x) = 0 has no real root.

```
Thm 6.3.1 (Preliminary Result)
    Let \cdot f, g: [a,b] \rightarrow \mathbb{R} (a < b)
              \cdot f(\alpha) = g(\alpha) = 0
              • g(x) \neq 0 \forall x \in (a,b).
   If I and g are diff at a (1-sided) with g'(a) = 0,
   then \lim_{x\to a+} \frac{f(x)}{g(x)} exists and \lim_{x\to a+} \frac{f(x)}{g(x)} = \frac{f'(a)}{g'(a)}
7 hm 6.3.3 (L'Hopital's Rule I) (0)
    Let \cdot - \infty \leq a < b \leq \infty
           · f, g diff. on (a,b) (no assumption at end pts.)
           g'(x) \neq 0 \qquad \forall x \in (a,b)
\lim_{x \to a^+} f(x) = \lim_{x \to a^+} g(x) = 0
   a) If \lim_{x\to a^+} \frac{f'(x)}{g'(x)} = L or \lim_{x\to a^+} \frac{f(x)}{g(x)} = L
    b) If \lim_{x\to a^+} \frac{f'(x)}{g'(x)} = Le(\pm a), then \lim_{x\to a^+} \frac{f(x)}{g(x)} = L
  Thm 6.3.5 (L'Hopital's Rule II) (=)
      Let \cdot - \infty \leq a < b \leq \infty
             · f, g diff. on (a,b) (no assumption at end pts.)
              • g'(x) \neq 0 \forall x \in (a,b)
• \lim_{x \to at} g(x) = \pm \infty
     a) If \lim_{x\to a^+} \frac{f'(x)}{g'(x)} = L GR, then \lim_{x\to a^+} \frac{f(x)}{g(x)} = L
      b) If \lim_{x\to a^+} \frac{f'(x)}{g'(x)} = Le\{\pm\infty\}, then \lim_{x\to a^+} \frac{f(x)}{g(x)} = L
```

Example Let $f(x) := \int x^2 \cdot x \text{ rational}$, $g(x) := \sin x \cdot x \in \mathbb{R}$.

Use Thm 6.3. to show that $\lim_{x \to 0} f(x)/g(x) = 0$ Explain why 6.3.3 cannot be used. Ans: Check: f(0) = g(0) = 0, $g(x) \neq 0 \ \forall x \in (0, \pi)$, $f, g \ diff - at \ 0 \ with \ f'(0) = 0$, $g'(0) = \cos 0 = 1 \neq 0$. To see f'(0) = 0, note $\left| \frac{f(x) - f(0)}{x} \right| \leq |x| \quad \forall x \neq 0$ and apply squeeze thm By Thm 6.3.1, $\lim_{x\to 0} \frac{f(x)}{g(x)} = \frac{f'(0)}{g'(0)} = \frac{0}{1} = 0$. However, 7hm 6.3.3 cannot be used since f'(x) DNE for x+0 In fact f is NOT even cts for x + 0. This can be seen readily by considering rational $x_n \to x \Rightarrow f(x_n) = x_n^2 \to x^2$ irrational $y_n \rightarrow x = f(y_n) = 0$

Example . Evaluate the following limits	
	domain: (o, a)
Ans: Indeterminate form $\infty - \infty$. Need to reduce to $\frac{0}{0}$ or $\frac{2}{\infty}$ first.	
$\lim_{x\to 0^+} \left(\frac{1}{x} - \frac{1}{Arctan x} \right)$	
= lim Arctanx - x x-ot X · Arctan x	
$= \lim_{X \to o^{\dagger}} \frac{\frac{1}{1+x^{2}-1}}{Antax + \frac{X}{1+x^{2}}}$	$ \left(\left(\text{Arctan} \times - \times \right) = \frac{1}{1+x^2} - 1 \text{exists} \forall x > 0 $ $ \left(\left(\times \cdot \text{Arctan} \times \right)' = \text{Antan} \times + \frac{x}{1+x^2} \text{exists} \neq 0 \forall x > 0 \right) $
$= \lim_{X \to ot} \frac{1}{ Antan x + \frac{X}{Hx^2}}$ $= \lim_{X \to ot} \frac{-x^2}{(1+x^2) Antan x + x}$	
$= \lim_{X \to o^{\dagger}} \frac{-2x}{2 + 2x \operatorname{Arctan} x}$	$ \left(\left(-x^{2} \right)' = -2x \text{exist} \forall x > 0 $ $ \left((1+x^{2}) \text{Arctan} \times + \times \right)' = 1 + 2x \text{Arctan} \times + 1 $
L'Hopital's rule = 0	exists $\neq 0$ $\forall x > 0$. (limit exists, calculation justified)

```
Example. Evaluate the following limits
           b) | im x 4in x domain: (0, 0)
Ans! Indeterminate form o
         Need to reduce to o or a first.
  Consider

[Im In (x 4inx)
    lim (ginx) lnx
 lim sinx (-tanx) L'Hopital's rule
                        ( limit exists, calculation justified
 Finally, by continuity of exponential for exp: IR - IR,
  \lim_{x\to ot} \exp\left(\ln\left(x^{\sin x}\right)\right) = \exp\left(\lim_{x\to ot} \ln\left(x^{\sin x}\right)\right) = e^{\circ} = 1
 i.e. lim x fin x =
```

Example Evaluate the limit $\begin{cases} \lim_{X \to \infty} X + \sin X \\ X - \sin X \end{cases}$ If we apply L'Hopital's rule "blindly", then $\lim_{X\to\infty} \frac{(X+4ihx)'}{(X-4ihx)'} = \lim_{X\to\infty} \frac{1+6sx}{1-6ix}$ = lim cot2(x) DNE However we cannot conclude that lim X + SinX DNE also $\frac{1}{1} \frac{X + \sin X}{X - \sin X} = \frac{1}{1} \frac{1 + \frac{\sin X}{X}}{X}$ $\frac{1}{1} \frac{X + \sin X}{X - \sin X} = \frac{1}{1} \frac{1 + \frac{\sin X}{X}}{X}$ Ans? = 1+0 (squeeze thm)